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REV-01 2021/03
BCA

BACHELOR of COMPUTER APPLICATION
FIRST SEMESTER
FUNDAMENTAL CONCEPTS OF MATHEMATICS

BSM - 710
Duration : 3 hrs. Full Marks : 70
( PART-A: Objective )

Time : 20 min. Marks : 20
Choose the correct answer from the following: 1x20=20
L Sec870°=-..

a -1 b. 1

c.0 d. None
2. A={1,2,3},B={2,3,5} then AAB =

a {1,3} > {12}

C. {1,5} d. None

3.1t n(AUB) =100, n(A) =60, n(B) =50, then N(ANB) =?

an=2 b n=1

4. If A={1,2}, B={1,2,3} then,

a. 20 b. 10
c. 15 d. None
5 If A={1,2}, B={4,5} then A° N\ B® =
a. A={1,2,3,4} b. A={4,5}
c. A={2,4} d. ®
6 If A={1,2}, B={1,2,3} then, A° —B® =
a. {3} b. {4}
c. {5} d. None
7. Which of the following is not a set,
a. Set of vowels b. Set of teachers
c. Set of beautiful girls d. All of the above
8
—100x =
dx
a. 100 b.0
c. 10 d. 1000
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10.

11.

12.

13.

14.

15.

d
—secax =
dx
a. secax

¢. asecax.tanax

2 1
A= isa

a. Square matrix
c. Both Aand B

‘123

1 45
a. -2
c. 0

2 1
If A= then,
3 4

o=

c. Botha. and b.

2 -4
If A= the co-factor of — 4 s,
-1 3

a. 3
c -1

If A be amatrix then, A" exists, only when

* |40

¢ Ax0

" NnX

b. aseCax
d. None

. Singular matrix
. None

. Can not be determined
. 112

Nkl

. None

A =0

. None
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16.

17.

18

20

dx

f(X)=2x+5is
a. One-one
c. Both Aand B

' jx”"dx =

a. m

mx
C. Xm+l

m+1
[ Cot?xdx =
 sec’ x
¢ fanx
' jSec4xdx

a tanx
¢ Secx tan x

. onto
. None

. mX

. None

- tanx—X
. None

- Secx
. None
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[PART-B : Descrigtive]

Time: 2 hrs. 40min. Marks:50

[Answer question no.1 & any four (4) from the rest ]

-11 2 2 -1 3 6+4=10
alf A=| 4 2 5|, B=[{2 4 -1|Find ABand BA

1 3 2 1 2 3

o dy s

b. Find, d—,lf y =3e" +7xlog x+10

X

o 5 _ 5+5=10

a. . Evaluate, _[(e +F+7X —10x)dx
b. . Find, y ,if y=e¥Sin4dx

dx
a Evaluate, I(Xz log x)dx £4+5210
b Find, d—y,if y:is+§ +3Jx 420

dx x> X

For any two sets Aand B, show that, 5+5=10

a. (AnB)° = A° UB®

b. ANB =A-B
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5.

a. Test whether following functions are one or onto

(i) f(x)=5x+3
(i) f(x)=x>
b. Distinguish between eaual set and equivalent set
X—=2
Clim =
S2x =2

1 k
a lf, A= (4 2} find Kif Ais singular matrix

b. Evaluate, I(xzex)dx

1
c.Find,d—y,if y=tanXx+——
dx tan x

a. Show that (pA ~ qQ)A(~ pV Q) is a contradiction.

b. Show that ~ (pVv Q) and ~ PA ~ ( are logically equivalent.

4+3+3=
10

3+4+3=1

5+5=10

5+5=10
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